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Database Manag 1ent System

Time: 3 hrs. ¢  Max. Marks: 80

L)

Note: Answer any FIVE full ques, hoosmg ONE full qf f?gn JSrom each module.
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Module-1

50, will be treated as malpractice.
e

a. (06 Marks)

. b. (05 Marks)

g c. Discuss the dlfferen.t types of user friendly interfages and the types of user who typically use

g : (05 Marks)
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.| z 2 a 6ck diagram the different; phases of database design. (08 Marks)

g S b. Draw Diagram of movie datggase Assume your owx entmes (minimum 4) attributes

Qo

E g and réla Qnshlps (08 Marks)
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4 . ¢ Module:2

| § 3 a. Discuss the characterlstlcs@grelatlons v (06 Marks)

2 g_ . Outline the steps to cont elxtox lational Database s¢chema. (06 Marks)

L 5 c. Define the following: ¢

g = i) Relation state ¢

ii’o g ii)  Relation s

Z S iii) Arity

;g iv) Domam& (04 Marks)
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Module-3
a. How does SQL implement the entity integrity cor@

ihts of the relational data model?

Explain with an example. (04 Marks)
b. Discuss: i) Shared variables ii) Communicatid; (06 Marks)
c. Explain with examples in SQL:

i) Drop command

ii)  Delete command

iii) Update command. (06 Marks)

a. With program segment, expl%m%e eving of tuples with embedded SQL in C. (06 Marks)
b. Consider the following tables: A @
works (Pname, Cname, S r}f)
lives (Pname, Street, Gity),
located-In (Cname, Clt;,g')ﬁwgs
write the following %erles in SQL: , * '
i)  List the ngymrgg of the people who w%gfér the company ‘Wipro’ along with the cities
they live in. &
ii) qu, eﬁames of the persons who o fiot work for ‘Infosys’.
iii) Fmd the people whose salarles«”age more than that of all of the ‘oracle’ employees.
iv) F 1%? e persons who work a” Llives in the same ci (10 Marks)

é Mo dule-4
of attribute? Write

3

e of attribute.
(06 Marks)

a. What do you mean by clogu Igorithm to find ¢

&l

b. Explain any two inform%?%ﬂlity measures fjoye% for a relation @gha design.

(04 Marks)

c, Are they equivalent?

(06 Marks)
a. dependency? Explan the 4NF with example. (06 Marks)
b. . to dchieve INF using suitable example.

(04 Marks)
XLE (CAR-NO, Date-Sold, Salesman No,

;Ons1der the followmgs»
&’mmlssmn DlSCO ).,
“Assume a car {ca ultiple salesman and hence primary key is
{CAR_No, S{al_g_sman_No}.
Additional e e encies are

i) Is this relation in NF
ii)  How would you nofn

F or 3NF? Why or why not?
ize this completely? (06 Marks)

E Module-5
a. Discuss the AC % roperties of a transaction. (04 Marks)
b. What are the anomalies occur due to interleave execution? Explain them with example.
é (06 Marks)
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down the equivalent serial schedule (S).
Ti:Ri(); Ri(z); Wi(x);
T2 1 Ry(x); Ra(y); Wa(z); Wa(y);
T3 : Rs(x); Rs(y); Wa(y)s

SI: Ri(x); Ra(z); Ri(z); R3(x); R3
S2: Ri(x); Ra(2); R3(x); Ri(2); R

10

(06 Marks)
(04 Marks)

(06 Marks)




